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بسم الله الرحمن الرحيم
DEPARTMENT OF CIVIL ENGINEERING - KFUPM
Structural Analysis I

CE 305 – 01-2007
Quizzes 6 & 7 (Take-home BUT  independent work is expected)
Monday, January 03, 2007
Name: -----------------------------------                                           ID. No.: ----------------------------------


Score:         / 100
· Use the method of moment distributions to compute all end moments.
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· Also compute the end forces for member BA.
· Draw the SFD and BMD for member AC. [image: image2.png]
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The distributed load is over 5 ft length of span BC.








Dr. Saeid A Alghamdi  -  16-150  -    03-860-2570.

